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4ŋƧ¹5 

¼�9a87ƤŸ�5ŸŻ5UXiwVqw�b6dŸ�Ĥö0-ŷƜJŵŦ

&37d1$95 ƤĢâĂ¶Ƣ!Ă¶ƣ9Ƅä " :yÒ5(d1Ÿ9Ÿ�:Ŵ

Ƌ # 9ŴĬ5&ƤŴƋ967ŸŻ5ŴƋ967UXiwVqw7acý9bHƤ

{|Ă¶Ƣ$Ă¶ƣ79@ù§&37d1UXiwVqw:Ƥ;8Òÿ % 5ħŨ

�ÿ & JC11-.&Ƥƛěĳô7�"dŸ�9ŷƜ�b9ơ%: ℎ( 46d1

ŷƜ:ĜæĤĳ46cƤ+9ơ%J ) sin(2/ !/1) 5(d1?-ƤŸŻ:ŷƜ�

bƙH67C95&ƤÉ %:ĭū4 d5(d1 

 

ÊB7ƤħŨ�ÿ & �©¡7Ú%7ÅµJŜ9d1 

�� ħŨ�ÿ & �ĭū4 d5&ƤŸ�9ƎĿĂ¶9�ś $(3) 7Ɠ(dƅ§Ă

ņåJ #Ƥ%Ƥ)Ƥℎ(Ƥ3Ƥ4 = 2/"/1 J�03Ņ*1$$4Ƥ3 :ŖƆąƒ4

6d1 

�� ¹ �9ƅ§Ăņå4ůſ%HdŸ�9şĺù§9½ĉù§ÿJå4Ņ*1 

�� ŵŦƑÊìƤ©¡7ąƒJŖ3Òàù§ĳô760-5 Ƥ¹ � 9Ăņå9

ŭJ #Ƥ%Ƥ)Ƥℎ(Ƥ3Ƥ4 J�03Ņ*1$95 ƤI)�9ħŨ7acŸ

�9şĺù§:±?0-5Ŝ9d1$$4Ƥ�ó9Çÿ 6 JĹ73ƤŸ�9

{|Ă¶9§ J $(3) = 6 sin43 + ℎ( 5�73@d5a71 

	� Ÿ��ùĳô76dƄäJå4Ņ&Ƥ+9��ľ6�Jĉ¦ÿÍ � đ4ģB

a1$$4Ƥ´drmx\9�:�|5(d1 

# = 200	kgƤ% = 4000	kg ∙ s–?Ƥ) = 40	mmƤ1 = 8.0	mƤ" = 50	km ∙ h–E 

 

Ě7ƤħŨ�ÿ & �ĭū4 67ÅµJŜ9d1 


� Ÿ�9ƎĿĂ¶9�ś $(3) 7Ɠ(dƅ§ĂņåJ #Ƥ%Ƥ)Ƥ&Ƥℎ(Ƥ3Ƥ4 J

�03Ņ*1  

(� ŵŦƑÊìƤ©¡7ąƒJŖ3Òàù§ĳô760-5 Ƥ¹ 
 9Ăņå9
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ŭJ #Ƥ%Ƥ)Ƥ&Ƥℎ(Ƥ3Ƥ4 J�03Ņ*1$$4Ƥ�ó9Çÿ FƤ6ƤGEƤ

G? JĹ73Ƥ{|Ă¶9§ J $(3) = GE sin43 + G? cos43 + ℎ( 5� ƤGE, 

G? JģB3�bƤ$(3) = 6 sin(43 − F) + ℎ( 9ê4Ņ(5a71 

)� ¹ (9ĳô9Ÿ�9{|Ă¶9ù§9ùá:ƤŷƜ9ùá ) 9��76d�

å4Ņ&Ƥ��ľ6�Jĉ¦ÿÍ � đ4ģBa1?-Ƥ$9ù§9ùá:Ƥ

¹�9Åµ9ù§9ùá7×&��76d�ĉ¦ÿÍ�đ4ģBa1$$4Ƥ

´drmx\9�:�|5(d1 

# = 200	kgƤ% = 4000	kg ∙ s–?Ƥ) = 40	mmƤ1 = 8.0	mƤ" = 50	km ∙ h–EƤ 

& = 4.0	MN ∙ s ∙ m–E 
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4ŋƨ¹5 

¼�9a87Ƥ!Ź7ÁĿ7ƒƖ M 4Ɖś%H-�Ď9Ñ�Ù��b6dâŦ

âčƚĔ9ƒ7ƤűƚĴ N = NON(Ƣ NO :ĠűƚĴƤN( :Łň9űƚĴƣ9ű

ƚ��:%?H-PĂ¶=ĭƔ7Ɛ7�ƀŘŷ�JƤPĂ¶=�ü(d�ĦƚĦ

9ùdŠ7JŜ9a81ƚĔ:$Ă¶7©¡7ã!Ŋ9¦ď:ĭū4 d5&Ƥ

PĂ¶7�ü(dƚĦ: $ 7ab675(d1ƚÅhSat Q(R, 3)ƤńČÖä

hSat T(R, 3) :7)HC�ƚĔƒ79@Î¿&Ƥ+Hb9Põ¡:7)HC

05@6*dC95(d1$$4ƤR :�śhSatƤ3 :ąƒ46d1ƚĔJ

PŹĂ¶7�ü(dƚĦƢ$Ă¶9«�Ɛ%6-cƣ:Ƥ! = 07ś�H-ƚĔ�4 

UE(R, 3) = VWX( cos(%P − 43)Ƥ! = M7ś�H-ƚĔ�4 U?(R, 3) = −VWX( cos(%P −

43) 5~9bHd5�Ò&a81$$4ƤVW :PĂ¶9«�hSatƤ% :Ĥÿ

hSat9É %Ƥ4 :Ŭù§ÿ46d1$$49ƚńÅ:�|9kSXMN

tĂņå 

 Y ∙ Q =
Z

N
 ���  

 Y ∙ T = 0 ��� �

 Y × Q = −
\T

\3
 ��. �

 Y × T = ](^ + N](
\Q

\3
 ��� �

7í81$$4ƤZ :ƚŢÖäƤ^ :ƚĦÖäƤ]( :Łň9ƂńĴ46d1 

 

�� kSXMNtĂņå5hSatñŌå Y ∙ (Y × _) = 0Ƣ_	:�ó9hSatƣ

JĹ73�|9å�� �õcŉ1$5JŅ*1 

 Y ∙ ^ +
\Z

\3
= 0 �� �
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?-Ƥå�� 9Ň¡êJŅ&-894Ƥ+9ıķľ6ó¸J
�Íņä4ŲĄ*

a1 

 

�� å�� JĹ73ƚĔ�{9ƚŢƜÖä È(P, 3) �a<ƚĔ�{9ƚŢƜÖä

?̀(P, 3) JģBa1 

 

�� kSXMNtĂņå��� 5��� JĹ73Ƥ0 < ! < M 7�"dƚÅhSat 

Q(R, 3) 5ńČÖähSat T(R, 3) JģBa1 

 

	� ¹�4îbH- Q(R, 3) 5 T(R, 3) 7å��. JƇĹ(d$57a03Ƥ% 5 4	

9Ɠ�JÙ *a1$9�ƀŘŷJ�ü(d�ĦƚĦ9ƄäJģBƤŁň�

9�Ƅ5Ġź*a1+9ıķľ6ó¸J
�Íņä4ŲĄ*a1 
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4ŋƩ¹5 
�� �|9å�� 4~9bHd�Ě�9Vpux`KwQxĂņå7í7Ƥ!Ă¶9

@7ƅ§4 dƤObtRx b(ƤŴƋ # 9őÌJŜ9d1 

 c−
ℏ?

2#

M?

M!?
+ e(!)fg(!) = b(g(!) �� �

$$4Ƥg(!) :őÌ9Ĥ§ƓÿƤe(!) :j_wVotƤℏ = ℎ/2/Ƣℎ:gr

wSÒÿƣ46d1�|9å�� 4ŧ%Hd¼�7Ņ(a86ƥĚ�ƕĞÂj

_wVot7¶�03Ý�bőÌ��Ø(d1 

 e(!) = h
0 (! ≤ 0)

e( (! > 0)
 �� �

$$4Ƥ e( > 0 46d1 
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ƞÃ IƢ! ≤ 0ƣ7�"dőÌ9Ĥ§Ɠÿ gk :Ƥ�|9å�� 9a87Ĉ!$

5�4 d1 

 gk = 6 exp(o%!) + G exp(−o%!) �� �

$$4Ƥå�� 9³ż9ŋ �Ɲ5ŋ �Ɲ:+H,HőÌ9�Ø5°ØJŧ&3

�cƤ% = p
?qrs

ℏt
Ƥ	o :ťÿ«�46d1�|9¹77ō9a1 

!"

��II
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% = 0
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��  őÌ9ObtRx� b( > e( 9ÅµƤ! = 0 9j_wVotƘÆ4:őÌ

9°Ø5ƂƆ�Ŷ d1ƞÃ IIƢ! > 0ƣ7�"dőÌ9Ĥ§Ɠÿ� gkk =

uE exp(o%E!) 9a87ŧ*d5(d1$95 Ƥ%E J #ƤℏƤb(Ƥe(JĹ

73ŧ*1 

��  ¹ ��� 9őÌ9°ØĴ v = |G|?/|6|? 5ƂƆĴ x = 1 − v J b( ¯< 

e( JĹ73ŧ*1 

��  b( < e( 9őÌJ�Ø&-ÅµƤƞÃ IIƢ! > 0ƣ7�"dőÌ9Ĥ§Ɠÿ

: gkk = u? exp(−%?!) 9a87ŧ*d5(d1$9ą9°ØĴ v Jģ

Ba1Ù ƆņCŅ($51 

 

�� Ě7ƤƌÜŧƜ7ÁĿ7yė6ƚĻèä z	(z > 0) 9ƚĻJ¬¥&3þ %

HdƚÌ9ø§JƤ¼ � 9a86«œ6 � Ě�9zŬj_wVotŽ�JĹ

73ĒŮ(d1zŬj_wVot: 

 e(!) = h
0 (! ≤ 0)

e( − {z! (! > 0)
 �	 �

4ŧ%HƤ	! ≤ 0 :ƌÜƤ! > 0 :Łň7×ï(d1$$4Ƥ e( > 0 Ƥ{ :

ƚġŔƋ46d1!Ă¶9@7ƅ§4 dObtRx	b(ƤŴƋ # 9őÌ�Ý

�b�Ø(d1 

 
¼ � 

b( < e( 9ÅµƤe()) = b( 56d ) 9�ś49ƂƆĴ x| :�|9a87

!(#)

#

!%

# = 0 # = (
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~9bHd5(d1 

 x| = exp }−2~ �
2#[e(!) − b(]

ℏ?

|

(

M!Ç �
 �

�|9¹77ō9a1 

��  őÌ9ƂƆĴ x| : É(= e( − b() 5 #ƤℏƤ{Ƥz JĹ73Ƥ 

 x| = exp Ñ−
4√2#

3ℏ{z
Éá/?à �( �

56d$5JŅ*1 

��  b( JƌÜ9fNtlObtRx5(d5Ƥ¹ ��� 9 É :��Ɠÿ7×

ï(d1$$4Ƥ��Ɠÿ� 4.45	eV 9\wTX_wŧƜ7ƚĻ z J¬

¥&3ƤƚÌJ²c (ÓƠJŜ9d1å�( JC57ƤƂƆĴ x|  J

6.74 × 10åá 5(d-B9ƚĻ z JģBa1?-Ƥ+9Ɨ9 ) JģBa1

ĉ¦ÿÍ � đ4ŭō*a1-.&ƤƚġŔƋ { = 1.60 × 10åEç	CƤℏ =

1.05 × 10åáè	J∙sƤƚÌ9ŴƋ	# = 9.11 × 10åáE	kg 5(d1?-Ƥln(6.74 ×

10åá) = −5.00 5&3a71 

��  ¹ ��� 9a87őÌ�j_wVotƘÆJƃc÷"dĵųJawbt¦

ď5781awbt¦ď�ïĹ%H37dũś6d7:`cLXJy1

ø#Ƥ+9§�®ķJ 
� Íņä4ŲĄ*a1 
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4ŋ 7 ¹5 
6dĨä x 7�73Ƥğŀβ9�19ŗĆőƢő�5ő�ƣ�1!dőĻ{4α

ŀ9}ÀyĐĸõ�ĸ'dƆņJŜ9dƢ¼�ƣ1αŀ9Đ:uwYêĳ9ŉ�4

6cƤ$9ŉ�:¼�9ªë ï 9Ķ9yƈJ�1ŕ@µI*3Ž�%Hd1uw

Yĳ9ŉ�9ŧƜ5őĻ�6(Ŭ9ŪŬJ ñ	(0 < ñ ≤ 90°) 5(d1Ĩä x 7

�"dαŀ5βŀ9«��Ňé-c9şĺObtRxÞJ Δôö(x)	õ= ôú(x) −

ôù(x)û 5&3Ƥ�|9¹77ō9a1 

 

 

  

 

 

 

 

 

 

�� αŀ5βŀ9ĻƜObtRxƢ«�ƜŇé-cƣJ `úùƤβŀ9ƒ9őĻObt

RxƢ«�ƜŇé-cƣJ ù̀ù 5(d5 Ƥ¼�7�73 `úùƤ ù̀ù 5 ñ 9

ĩ-(> Ɠ�åJŅ*1-.&Ƥ`úùƤ ù̀ù 9ĽĂð:ĭū4 dC95(

d1 

 

�� ¼�9a87αŀ9ŗĆĐ�ĸõ(d5 9�şĺObtRxÇ¨ ∆b ��

|9å�� 4ŧ%Hd$5JŅ*1-.&Ƥŏ«9-B¼�9αŀ9ŧƜŇ�a

<�ŇJ+H,H †Ƥe 5ŧ&Ƥαŀ9Đĸõ7�8ĝ@ObtRx:ĭū4

 dC95(d1 

 ∆b = eΔôö(x) + †σúù − /ï
?σùùsin

?ñ �� �

�

¼ ��

α�

β� (
1)

β� (
2)
β��
�

θ

�����	�

 
¼Ʀ 
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�

rθ

�	������
���
�����
����� r�
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�� ćĴªë ï �6dÉ % ï∗ƢŞĻĐ9ćĴªëƣ�{76d5αŀ9Đ:Ð

Ò7õƐ(d1+9ķĺJƤå�� 7Ä273)�Íņä4ŲĄ*a1$$4Ƥ

†Ƥe :+H,H�|9å�� 5å�� 4~9bHd1 

 † = 4/ï?(1 − cos ñ) �� �

 e = 2/ïá(2 + cosñ) (1 − cos ñ)? 3⁄  �� �

 

	� αŀ9ŞĻĐ9ćĴªë ï∗ � ñ 7�b67$5JŅ*1 

 


� αŀ9ŞĻĐ9ĸõObtRxJ Δôö(x)Ƥ`úùƤñ JĹ73ŧ*1 

 

(� αŀ9ĐĸõƄä:2ŞĻĐ9ÿÖä352ŞĻĐ7®Ì��ł(dƟä39

�19ºÌ9Ň7Ġ�(d1$Hb9�ºÌ9Ĩä�Îð7ļó&3Ƥαŀ9

}ÀyĐĸõƄä9Ĩä�Îð9Trf9ĕêJƤβ → αÇôĬ x( �b x( 

acC©¡�7Ĩä?49ĨäŎ»7173¼Ņ*a1-.&Ƥ¼�7 x( J

ĄŅ(d$51 
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4ŋ 8 ¹5 
�� ƏƢCuƣ5ƍƢFeƣ59��ŒµƌJŜ9d1ĳô¼Jęåľ7¼17Ņ(1

1273	K 7�"dCu�9Fe9īŭä: 2.5	at%ƤFeƢγŀƣ�9Cu9īŭä: 

3.5	at%46d1�|9¹77ō9a1´Ű¹7×&3Ù ƆņCŅ($51

ġ�Òÿ v : 8.314	J · molåE · KåE JĹ7a1ĉ¦ÿÍ�đ4ŭō*a1 

 

 

¼1 

 

��  ��ŒßŤī�4:ƤīŴõ¡ �9ţġ¾ ´E �+9nt¡Ĵ !E 7Ġ�

(d5Ŝ9bHd1(6I/ ´E = %!E Ƣ-.& % :Òÿƣ5Ĉ"d1

$9ßŤī�4:ƤīËõ¡ � 9ţġ¾ ´? :+9nt¡Ĵ !? 7ĜĠ

�(d1(6I/ ´? = !?´?
¨ Ƣ-.& ´?¨ :œŐ6õ¡ � 9ţġ¾ƣ5

Ĉ"d1$Hb9īŴõ¡ � �a<īËõ¡ � 9ţġ¾7Ɠ(dŽ�å

J¢Ĺ&3Ƥ1273	K7�"d Cu-Fe ��Œµƌ�9 Fe 9ĥƋJƤFe 9n

t¡Ĵ7×&3ęåľ7û"1 

��  1273	K7�"dƤ1	at%9 Fe J·A Cu-Fe ��Œµƌ�9 Fe 9ĥƋJģ

Ba1 



���
 

 

��  1	at% 9 Fe J·A Cu-Fe ��Œµƌ�9 Fe �Ƥ1273	K4Ɗ¨&3 FeO

76d|Ɣ9ƊŔ¡¾JģBa1|ů9Ĩä x 7�"dƊ¨°ï9ĘĪ

şĺObtRxÇ¨ ∆ô¨ JĹ7d$51-.&ƤFeO �È9 Fe �a<

Cu 9Ɗ¨ı9ĸõ:ĭū4 dC95(d1 

 Fe	(solid) +
1

2
O?	(gas) = FeO	(solid) �

 ∆ôo = −264889 + 58.79	x J ∙ molåE �

 

�� Q[swOwWw:�7eXaw5Vsw]x�bĖõ%HƤVsw]x�

9ġ�9¾řƤİĮƤŝçƤ�­JŚcž&3eXawJ§�&37d1¼�

7Ņ(a86«œ¨%H-į¤ÏULStƢP^axULStƣ�Ƥyš7

Q[swOwWw9n`t5Ŝ9bH37d1ķòġ�J�ēıŴ5&3V

sw]x7Ù�Ƥú (dķòľ6į¤ÏULStJŜ9d1$9Œ4Ě9

a86ĪƛľgvZXJŦ81 

 

¼2 

(i) gvZX e0aƪyÒĨä x∞ƤyÒ¾¤ ±E 4�Ň eE ?4Vsw]

x�7�ēıŴ�Ù�%Hd1 

(ii) gvZX a0bƪĨä x≤Ƥ�Ň e?Ƥ¾¤ ±? ?4āįľ7¾ř(d1 
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(iii) gvZX b0cƪ�ēıŴ7į�~9bHƤĨä5¾¤:+H,H x≥Ƥ

±á ?4Ńąƒ98/7yÒ�Ň4{ă(d1 

(iv) gvZX c0dƪ�Ň eE ?4āįľ7ŝç&ƤĨä5¾¤:+H,H 

x¥Ƥ±è ?4ħÛ(d1 

(v) gvZX d0aƪyÒ�Ň4Èƈ=į�Ɓ#ƤĨä5¾¤:+H,H 

x∞Ƥ±E ?4ħÛ(d1 

(vi) gvZX a0eƪĨäƤ¾¤yÒ4Vsw]x�b�ēıŴ�Èƈ7ú

 %Hd1 

 

�|9¹77ō9a1´Ű¹7×&3Ù ƆņCŅ($51 

��  µ nt9ķòġ�7�73ƤĚå�� �õcŉ1$5JŅ*1 

 u∂ = u∑ + µv �� �

-.&Ƥu∂ :Ò¾įÔƋƤu∑ :ÒŇįÔƋƤv :ġ�Òÿ46d1 

��  ķòġ�9ĪƛľāįƆņ7�73ƤĚå�� JÙ *a1 

 ±e∏ =yÒ �� �

-.&Ƥ± 5 e :+H,H¾¤5�ŇƤ?- γ = u∂ u∑⁄  5(d1Ù 7

:å�� JĹ73a71 

��  {ůį¤ÏULSt7�73Ƥb0c9gvZX4�ēıŴ7~9bHdį 

πE J x≤Ƥx≥ �a< u∑ JĹ73ŧ*1?-Ƥd0a9gvZX4Èƈ=

þ %Hdį π? J x∞Ƥx¥ �a< u∑ JĹ73ŧ*1 

�	  $9į¤ÏULSt9į¦Ĵ ∫ J x∞ 5 x≤ 9Ɠÿ5&3ģBa1å�� Ƥ

å�� JĹ73a71-.&Ƥį¦Ĵ:�ULSt4į¤ÏULSt�Ŧ8

��JƤ�ULSt4�ēıŴ7~9bHdįƋ4£0-C946d16

�ƤgvZXe0aƤa0e:į¦Ĵ7:Õ~&67$57ļó*a1 

�
  ¹��	 4ģB- ∫ 9å7Ä273Ƥ$9į¤ÏULSt9į¦ĴJ{#

d-B7ƤVsw]x�a<eXawJĖõ(dċĀ5&3Ċ?&7Ĳ

ðJy1ø#Ƥ��Íņä4ķĺ5�7ſ>a1 
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- Attentions - 

1) The examination duration is 180 minutes.  
2) Select four problems out of eight problems set in the 

booklets of Fundamentals of Materials Engineering with 
five problems and Chemistry (Applicants for the 
Department of Materials Engineering) with three problems. 
If you answer more than four problems, all your answers 
will become invalid. 

3) You must use only one answering sheet for each problem. 
Write down the problem number selected on each answering 
sheet. You may use the reverse side of the answering sheet, 
if necessary. 

4) Answer in English or Japanese. 
5) You may use blank spaces of the booklets as calculation 

sheets. 
6) Fill in your examinee number on the booklets.  
7) The booklets must NOT be taken out after the exam. 
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(Calculation Sheet) 
 



 

(Calculation Sheet) 
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 Problem 4� 

Suppose that a car composed of a body, a wheel, and a suspension is running on a 

wavy road as shown in Figure 1. The velocity in the horizontal !-direction " is assumed 

constant. The body of the car is assumed to be a mass point with a mass # supported by 

the wheel and the suspension, the masses of which are negligible, and to vibrate only in 

the vertical $ -direction. The suspension has a spring constant %  and a damping 

coefficient &. The height of the car body from the road surface is ℎ( in a stationary state. 

The road has a sinusoidal surface, the height of which is ) sin(2/ !/1). Assume that the 

wheel never lose contact with the road surface, and that its size is negligible. 

 

First, consider the case of damping coefficient & being sufficiently small. 

1. By assuming that the damping coefficient & is negligible, give the equation of motion 

regarding the vertical position of the car body $(3) using #, %, ), ℎ(, 3, and 4 =

2/"/1, where 3 is elapsed time. 

2. Derive the formula of the specific frequency of the free vibration of the car body 

described by the equation obtained in Question 1. 

3. Derive the solution of the equation obtained in Question 1 using #, %, ), ℎ(, 3, and 

4, after enough time has passed from the start of running to attain steady state vibration. 

At that time, free vibration of the car body has disappeared by meager damping. Here, 

using arbitrary variable 6, you may express the vertical motion of the car body by the 

formula $(3) = 6 sin43 + ℎ(. 

4. Derive the formula of the speed at which the car is brought into a resonance state, and 

then calculate its concrete value with two significant digits. Here, the parameters have 

the following values. 

# = 200	kg, % = 4000	kg ∙ s–?, ) = 40	mm, 1 = 8.0	m, and " = 50	km ∙ h–E. 
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Next, consider the case where damping coefficient & cannot be ignored. 

5. Give the equation of motion regarding the vertical position of the car body $(3) using 

#, %, ), &, ℎ(, 3, and 4. 

6. Derive the solution of the equation obtained in Question 5 using #, %, ), &, ℎ(, 3, 

and 4, after enough time has passed from the start of running to reach steady state in 

vibration. Here, using arbitrary variables F, 6, GE , and G? , you may express the 

vertical motion by the formula $(3) = GE sin43 + G? cos43 + ℎ(, obtain GE and 

G?, and then derive the solution in the form of $(3) = 6 sin(43 − F) + ℎ(. 

7. Derive the formula expressing the ratio between the amplitude of the vertical vibration 

of the car body in the state of Question 6 and that of the road surface ), and then 

calculate its concrete value with two significant digits. Calculate the ratio of the 

amplitude of this vibration to that in the case considered in Question 3 with two 

significant digits. Here, the parameters have the following values. 

# = 200	kg , % = 4000	kg ∙ s–? , ) = 40	mm , 1 = 8.0	m , " = 50	km ∙ h–E , and 

& = 4.0	MN ∙ s ∙ m–E. 

 

 

Figure 1 
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 Problem 5� 

Let us consider an alternating current propagating in the M direction in an infinitely 

long transmission line in the M direction composed of a dielectric (permittivity N = NON(, 

where NO  is relative permittivity and N(  is the permittivity of vacuum) sandwiched 

between two plane-parallel electrodes made of perfect conductor placed perpendicular to 

! axis separated by distance P as shown in Figure 1. Assume that the electrodes are 

sufficiently wide in the $ direction so that you can ignore the effects of the edges, and 

that the current propagating in the M direction does not depend on $. Electric field vector 

Q(R, 3) and magnetic flux density vector T(R, 3) are assumed to exist only between the 

electrodes and their M components are assumed to be 0. Here, R is the position vector 

and 3 is the time. Currents propagating on electrodes along M axis (through unit length 

in the $ direction) are UE(R, 3) = VWX( cos(%M − 43) on the electrode 1 placed at ! =

0 and U?(R, 3) = −VWX( cos(%M − 43) on the electrode 2 placed at ! = P. Here, VW is 

the unit vector in the M direction, % is the magnitude of the wave vector, and 4 is the 

angular frequency. In this case, electromagnetic fields obey the following Maxwell’s 

equations: 

 Y ∙ Q =
Z

N
 (1a) 

 Y ∙ T = 0 (1b) 

 Y × Q = −
\T

\3
 (1c) 

 Y × T = ](^ + N](
\Q

\3
	, (1d) 

where Z  is the charge density, ^  is the current density, and ](  is the magnetic 

permeability of vacuum. 

 

1. Derive the following equation (2) using Maxwell’s equations and the vector identity 

Y ∙ (Y × _) = 0 (_ is an arbitrary vector). 
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 Y ∙ ^ +
\Z

\3
= 0 (2) 

Show an integral form of Equation (2) and describe its physical meaning in about 30 

words. 

 

2. Calculate surface charge density on the electrode 1, È(M, 3), and that on the electrode 

2, ?̀(M, 3), using Equation (2). 

 

3. Calculate the electric field vector Q(R, 3) and magnetic flux density vector T(R, 3) 

in 0 < ! < P using Maxwell’s equations (1a) and (1d). 

 

4. Derive a relationship between % and 4 by applying Equation (1c) to Q(R, 3) and 

T(R, 3)  obtained in Question 3. Calculate the velocity of the alternating current 

propagating in the transmission line and compare with the light velocity in vacuum. 

Describe its physical meaning in about 30 words. 

 

 

 
 

Figure 1 
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 Problem 6� 

1. Consider a particle of energy b( and mass # which can move only along the ! 

direction according to one-dimensional Schrödinger equation, given by the following 

equation (1).  

 c−
ℏ?

2#

P?

P!?
+ e(!)fg(!) = b(g(!) (1) 

Here, g(!) is the wave function of the particle, e(!) is a potential, and ℏ = ℎ/2/ 

(ℎ is Planck’s constant). 

As shown in Figure 1, the particle enters from the left toward the one-dimensional 

step-type potential represented by the following equation (2). 

 e(!) = h
0 (! ≤ 0)

e( (! > 0)
 (2) 

Here, e( > 0. 

 

 

Figure 1 

 

The wave function gk  of the particle in Region I (! ≤ 0) can be written as the 

following equation (3): 
 gk = 6 exp(o%!) + G exp(−o%!)	. (3) 

!"

Region II

#(%)
#"

Region I

% = 0
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Here, the first and second terms of the right hand side of Equation (3) represent the 

incidence and reflection of the particle, respectively, % = p
?qrs

ℏt
 and o  is the 

imaginary unit. Answer the following questions. 

(1) When the energy of the particle is  b( > e(, reflection and transmission of the 

particle occur at the potential barrier at ! = 0. When the wave function of the 

particle in Region II (! > 0) is expressed as gkk = uE exp(o%E!), express %E 

using #, ℏ, b(, and e(. 

(2) Express the reflectance v = |G|?/|6|?  and transmittance x = 1 − v  of the 

particle of Question 1(1) using b( and e(. 

(3) When a particle of b( < e( enters, the wave function of the particle in Region II 

(! > 0) is expressed as gkk = u? exp(−%?!). In this case, obtain the reflectance 

v. The derivation process must be shown. 

 

2. Next, the behavior of electrons emitted from a metal surface by applying a uniform 

electric field with intensity z	(z > 0) perpendicular to the metal surface is examined 

using a simple one-dimensional triangular potential approximation as shown in Figure 

2. This triangular potential is given as  

 e(!) = h
0 (! ≤ 0)

e( − {z! (! > 0)	.
 (4) 

Assume that ! ≤ 0 corresponds to the region of metal and ! > 0 corresponds to the 

region of vacuum. Here,	e( > 0 and { is the elementary charge. A particle of energy 

b( and mass # which can move only along the ! direction enters from the left.  
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Figure 2 

 

In the case of b( < e(, it is assumed that the transmittance x| at the position of ) 

(e()) = b() can be expressed as follows: 

 x| = exp }−2~ �
2#[e(!) − b(]

ℏ?

|

(

P!Ç	. (5) 

Answer the following questions. 

(1) Show that the transmittance x|  of the particle can be expressed using É	(=

e( − b(), #, ℏ, {, and z as follows: 

 x| = exp Ñ−
4√2#

3ℏ{z
Éá/?à	. (6) 

(2) When b( is the Fermi energy of the metal, É in Question 2(1) corresponds to 

the work function. Here, consider an experiment in which an electric field z is 

applied perpendicularly to a tungsten surface with a work function of 4.45	eV to 

extract electron. Using Equation (6), obtain the electric field z to achieve the 

transmittance x|  of 6.74 × 10åá , and obtain the corresponding value of ) . 

Answer with three significant digits. Here, the elementary charge { =

1.60 × 10åEç	C, ℏ = 1.05 × 10åáè	J∙s, and mass of the electron # = 9.11 ×

10åáE	kg. You may assume that ln(6.74 × 10åá) = −5.00. 

(3) The phenomenon that particles pass through a potential barrier as described in 

Question 2(2) is called tunnel effect. Give one example of apparatus or device that 

utilizes the tunnel effect, and explain its operation principle in about 30 words. 

!(#)

#

!%

# = 0 (

)%
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 Problem 7� 

Consider a process where heterogeneous nucleation of α phase occurs on the grain 

boundary between two crystal grains (grain 1 and grain 2) of the mother phase β, at a 

certain temperature x (Figure 1). The nucleus of α phase has lenticular-shaped body, 

which is approximated by the combination of two bodies given by a part of a sphere with 

a radius ï, as shown in Figure 2. Let the supplementary angle of the angle between the 

surface of the lenticular solid and the grain boundary be ñ	(0 < ñ ≤ 90°). Let the free 

energy difference between α phase and β phase per unit volume at the temperature x 

be Δôö(x)	õ= ôú(x) − ôù(x)û. Answer the following questions. 

 

 

 

 

 

 

 

 

1. Let the interface energy (per unit area) between α phase and β phase be `úù, and 

the grain boundary energy (per unit area) between β phase grains be ù̀ù. Formulate 

the relationship among `úù, ù̀ù, and ñ in Figure 1. Here assume the anisotropy of 

`úù and ù̀ù is negligible. 

 

2. Prove that the total free energy change ∆b is given by Equation (1) when α phase 

nucleates as described in Figure 1. For simplicity, denote the surface area and the 

volume of the α phase in Figure 1 as † and e, respectively. Assume the strain energy 

due to the nucleation of α phase is negligible. 

Center of sphere

rθ

Half cut of the
lenticular solid
(radius of curvature r)

Figure 2Figure 1

α phase

β phase (grain1)

β phase (grain 2)
Grain boundary of β phase

θ

Lenticular solid
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 ∆b = eΔôö(x) + †σúù − /ï
?σùùsin

?ñ (1) 

 

3. The nucleus of α phase stably grows when the radius of curvature ï is larger than a 

certain value ï∗ (the radius of curvature for the critical nucleus). Explain the reason 

in about 40 words based on Equation (1). Here † and e are given by the following 

Equations (2) and (3), respectively. 

 † = 4/ï?(1 − cos ñ) (2) 
 e = 2/ïá(2 + cosñ) (1 − cos ñ)? 3⁄  (3) 

 

4. Show that the radius of curvature for the critical nucleus of α phase ï∗ does not 

depend on the value of ñ. 

 

5. Give the formation energy of the critical nucleus of α phase using Δôö(x), `úù, and 

ñ. 

 

6. The nucleation rate of α phase is given by the product of two factors: “number density 

of critical nuclei” and “frequency of atomic attachment on a critical nucleus”. 

Considering the temperature dependences of these two factors, show schematically the 

graph of the heterogeneous nucleation rate of α phase as a function of temperature, 

for the temperature range from the β → α  transformation temperature x(  to the 

temperature sufficiently lower than x(. x( should be indicated in the figure clearly. 
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 Problem 8� 
1. Consider the binary alloy system of copper (Cu) and iron (Fe). The phase diagram is 

schematically shown in Figure 1. At 1273	K, the solubility of Fe in Cu is 2.5	at%, 

and the solubility of Cu in Fe (γ phase) is 3.5	at%. Answer the questions below. 

Show your derivation process in each problem. Note that the gas constant v =

8.314	J · molåE · KåE. Answer with three significant digits. 

 

 
Figure 1  

 

(1) For a dilute solution in a binary system, the vapor pressure ´E  of the solute 

component 1 is proportional to its mole fraction !E. Thus, ´E = %!E where % is 

a constant. In the dilute solution, the vapor pressure ´? of the solvent component 

2 is proportional to the mole fraction of the solvent !?. Thus, ´? = !?´?
¨ where 

´?
¨  is the vapor pressure for pure component 2. Based on the approximations 

regarding the vapor pressures of the solute component 1 and solvent component 

2, schematically draw the activity of Fe in the Cu-Fe binary alloy at 1273	K 

against the mole fraction of Fe. 

(2) Obtain the activity of Fe in the Cu-Fe binary alloy with 1	at% Fe at 1273	K.  
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(3) Calculate the minimum value of the oxygen partial pressure at which 1	at% of 

Fe dissolved in the Cu-Fe binary alloy is oxidized to FeO at 1273	K. Use the 

standard free energy change ∆ô¨  at temperature x  for the reaction below. 

Formations of oxides of iron and copper other than FeO are negligible. 

 Fe	(solid) +
1

2
O?	(gas) = FeO	(solid) �

 ∆ôo = −264889 + 58.79	x J ∙ molåE �

 

2. A gasoline engine mainly consists of a piston and a cylinder to move the piston by 

repeating compression, combustion, expansion, etc. of the gas in the cylinder. The 

following simplified thermodynamic cycle (Otto cycle) as shown in Figure 2 is 

generally regarded as a model of a gasoline engine. Consider an ideal thermodynamic 

cycle using an ideal gas as the working substance introduced into and exhausted from 

the cylinder. The following quasi-static processes are executed in the system.  

 

Figure 2 

 

(i) Process e�a: the working substance is introduced into the cylinder up to the 

volume eE at the constant pressure ∞E and the constant temperature x±. 

(ii) Process a�b: adiabatic compression to the temperature x≤, the volume e?, 

and the pressure ∞?. 
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(iii) Process b�c: heat is transferred to the working substance at a constant 

volume in a short time, and then temperature and pressure increase up to x≥ 

and ∞á, respectively. 

(iv) Process c�d: adiabatic expansion to the volume eE . Temperature and 

pressure decrease to x¥ and ∞è, respectively. 

(v) Process d�a: heat is ejected from the working substance at a constant volume. 

Temperature and pressure decrease to x± and ∞E, respectively.  

(vi) Process a�e: the mass of the working substance is exhausted from the 

cylinder to the outside at constant temperature and pressure. 

 

Answer the following questions. Show your derivation process.  

(1) Show that the following equation (1) applies for an ideal gas of µ moles: 

 u∂ = u∑ + µv. (1) 
Here, u∂  is the heat capacity at constant pressure, u∑  is the heat capacity at 

constant volume, and v is the gas constant. 

(2) Derive the following equation (2), in the case of a quasi-static adiabatic process 

for an ideal gas: 
 ∞e∏ = constant. (2) 

Here, ∞ and e are pressure and volume, respectively, and γ = u∂ u∑⁄ . You can 

use Equation (1). 

(3) Express the heat πE supplied to the working substance in process b�c of the 

above thermodynamic cycle using x≤ , x≥ , and u∑ . Also, express the heat π? 

ejected to the outside in process d�a using x±, x¥, and u∑.  

(4) Express the thermal efficiency ∫ of this thermodynamic cycle using x± and x≤. 

You can use Equations (1) and (2). Here, the thermal efficiency is defined as the 

work performed by the thermodynamic cycle in one cycle divided by the amount 
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of heat supplied to the working substance in one cycle. Note that processes e�a 

and a�e do not contribute to the thermal efficiency.  

(5) Based on the formula of ∫ obtained in Question 2(4), show one property that is 

desirable for materials of the cylinder and the piston to improve the efficiency of 

this thermodynamic cycle, together with the reasons in about 20 words. 

 


